A B REFIFhEE

0 3% F1H 2016411 722H
6 EREER VS 11 FZEEARA
H= A=
EE S S EEE
It oI - S e % T
79 : FHE 7 R B9 : oKfERLE 7 . E/E
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT +2 460 [£3] 2S +3 200 6
2 it [£3] 6D = 1370 [£3] 3NT +2 660 12
3 panyiie] 1t 3D = 110 [£3] 2C -2 -100 5
4 WE=] 1t 4S +1 650 [£3] 3NT -2 -200 13
5 it [ri] 3S -1 50 1t 2H +2 170 3
6 panyiie] 1t 5D -2 -100 [£3] 3NT -1 -50
7 PWE=] [£3] 3NT -1 -100 [£7] 2NT +1 150 6
8 TS [ri] 2H +2 -170 [ri] 3H +1 -170
9 ,?ﬁ [ri] 3NT -1 100 x 3NT -1 100
10 | \WHB 1t 5C -1 -100 [£3] 4C = 130 6
DATUMSit T
BREEPA SZENEARA Y. X+ 36 17
SnsE/HE 23 1R /oKERLE 3 ait 36 17
7o/ RS -3 ZIBE/APER -23 V.P. 15.75 | 4.25




A B REFIFhEE

0 3% B2 K 2016411H22H
15 ;TFERIERA VS 18 EEELEP
A= =
LA ERA THEEFRN TN LA ERA
| AR £ TN L = (XVAT: it : BES IR i
E = 7 : SRR g : 5KZEHA 7g : 3K
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxel & | 20 | 1| s0 | & | 4s | = | 420 9
2 |mitl & | anT | +2 | 660] 8 | sD | = | 600 | 2
3 |mAE|l & | oanT | 2| 150 | 4t | aNT | +2 | 150
4 sl & | anT | +12 | 630 | 46 | 45 | = | 620
5 || ® | 2s | = | 220} 5® | 3s | -1 | s0 4
6 |mmEl & | 4Hx | = | 790} & | 31 | = | -140 12
7 |wal & | anT | = | 220 | 4 | aNnT | +3 | 180 2
8 |wxl|l & | a0 | = | 420 & | 21 | +3 | -200 6
o |zm| & | aNT | -2 | 00| 7 | aNT | +2 | -150 | 6
10|wal @ | 3s | = | 140 4t | scx | = | 750 13
DATUM&iit iFE
iIFRISRA BRIBE r. 3+ 8 | 46
(ETA =Ny -10 EEE/K RS 28 ait 8 | 46
Yabavix T 61N -28 AR/ R BER 10 V.P. 1.03 | 18.97




A B REFIFhEEE

% 3% B3 20164F11H22H
3 FREEFRA VS 16 I ZEFKPA
H= S
IRESER I 5EFRKRA I 5EFRKRA RS
it S ENEE R &Z&EE it : EBHK IR . =AM
B RCE 73 : #RJ1|EF [EZ I 2 7 Z=3E
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 2S +2 170 x 2Dx = -180 8
2 it [£3] 3NT +2 660 1t 4S -1 -100 13
3 panyiie] 1t INT +2 150 1t 2D = 90 2
4 |wsl 46 | 3s | +1| 170 | 4t | 3s | +1 | 170
5 it 1t 2H = 110 75 2S = -110 6
6 panyiic] [£3] 3NT +2 460 [£3] 3NT -1 -50 11
7 PE=] [£3] INT +3 180 [£7] 2NT +1 150 1
8 TS [ri] 2HX +2 -670 [ri] 2H +2 -170 11
9 panyiie] [ri] 3NT +1 -630 [ri] 3NT -1 100 12
10 | \WHB 1t 3C +3 170 1t 4C +1 150 1
DATUM%tit iFE
HREEEF ["TRETKBA r. X+ a2 | 23
EXB/IRCE 1 E/MNEE 17 ait a2 | 23
R/ ZFE 17 e /)BT 1 V.P. 15.75 | 4.25




A B REFIFhEE

% 35 4R 2016411 722H
8 HSiE—PA VS 13 RIFOR
H= A=
T HWHOR HWHOR o\
1t - s % - W Tt =vur 7 e
FA KRR 7 : IR =4 7 FE%
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 2S +3 200 1t 3NT +2 460 6
2 it [£3] 3NT +2 660 1t 4S = 620 1
3 panyiic] [£3] 2NT +2 180 1t 3NT -3 -150 8
4 E=] [£3] 3NT -1 -100 5| 4S = 620 12
5 it 1t 2H = 110 75 3S -1 50 2
6 panyiie] x 5Hx -2 500 1t 4D +1 150 8
7 WE=] [£3] 3NT = 600 [£7] 2NT = 120 10
8 TS 1t 5Cx -3 -500 [ri] 2H +2 -170 8
9 ,?ﬁ [ri] 3NT -1 100 [ri] 3NT -1 100
10 | \WHB [£3] 3NT -3 -300 1t 5Cx -1 -200 3
DATUMSit T
RiSpE—PA ENFOX Y. X+ 29 | 29
BERIS/SRIEZR 14 IR/ RBLT 17 ait 29 | 29
RPE/FER 17 B&RE/ FTiRRE -14 V.P. 10 | 10




A B REFIFhEE

% 35 ¥ 5 R 2016411 722H
7 KR VS O H5ik—BA
H= A=
RER o o Bk
1t - S2ey 7% - =996 1t EmH gy~
e 7 - ek e BT
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 3NT +3 -490 [ri] 3NT +1 -430 2
2 it [£3] 5D +1 620 [£3] 3NT +2 660 1
3 ,?ﬁ 1t INT -1 -50 [£3] 3NT -4 -200 4
4 E=] 1t 4S = 620 5| 4S -100 12
5 |gdtl & | 2nT | -1 | 100 § 46 | 2H | +1 | 140 6
6 ,?ﬁ 1t 6Dx -1 -100 [£3] 3NT -1 -50 2
7 PWE=] [£3] 2NT +1 150 [£7] INT +2 150
8 TS [ri] 4H = -420 x 2S +1 -140 7
9 panyiic] [ri] 3NT -1 100 [ri] 3NT +1 -630 12
10 |wsl & | 3as | = | 120l & | 3s | = | -140
DATUMSit T
Sl I B8 s —RA Y. X+ 28 18
XAN/ARE -15 ET /IR 34 &it 28 | 18
Ea/E—F 34 Z=BREN/475e3E 15 V.P. 13.43 | 6.57




A B REFIFhEE

% 3% %6 % 20164F11H22H
1 iFYIZFBA VS 10 FBRICHERA
H= S
RYIZFRA FAELLAERA FAELLAERA RYIZFRA
1t : PR R MRxE b | A Sovil o IR : RERZR
ER =] 7 : FEhnE B BKER A EFENX
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2NT +1 150 x 2D -1 50 3
2 it [£3] 6D = 1370 1t 4H -2 -200 17
3 panyiie] 1t INT +2 150 1t INT +3 180 1
4 |l 46 | 4s | = | e20 | 4t | as | = | 620
5 &bl 4t | 2c | +1 | 110 { 4t | 2H | +1 | 140 1
6 panyiie] 1t 3NT -1 -50 [£3] 3NT -1 -50
7 PE=] 1t 2NT +1 150 [rit] 3S -2 200 2
8 | Xkl H® 3D +1 | -130 7a 2D +2 | -130
9 g [ri] 3NT -1 100 x 2NT +1 -150 6
10 | \WHB 1t 3C +2 150 [ri] 3S = -140 7
DATUM%tit iFEE
wIZFRA FIsRCHEPA 5 33 o
MIE/EES 35 KGN/ Bk E -5 Aait 33 4
KHEZE/FEN 5 Rk e/MEnnsE -35 V.P. 17.67 | 2.33




GBI EEEFEE

% 35 7R 2016411 722H
2 BEEHFEIEA VS 5 RE D
H= A=
SR REERD REED SR
it : XBFRLT R BaH Jt : EJER=E IR BEE%
& - B 7 =k o e .
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT +2 460 [£3] 3S +1 170 4
2 it 1t 4S -1 -100 1t 4S = 620 12
3 panyiic] [£3] 3NT = 400 [£3] 3NT -1 -50 10
4 PE=] x 3HXx -3 800 [£3] 3S = 140 12
5 it [ri] 3S -2 100 75 3S -1 50 2
6 ,?ﬁ [ri] 5Hx -4 1100 1t 5Dx -1 -100 15
7 PWE=] [£3] 3NT = 600 1t INT +2 150 10
8 TS [ri] 2H +3 -200 [ri] 3H +1 -170 1
9 panyiie] [ri] 3NT -1 100 [ri] 3NT = -600 12
10 | \WHB [ri] 3S -1 100 1t 4C +1 150 2
DATUMSit T
B =i HEA irS D Y. X+ 68 15
XL/ el 49 B R/ iR ER -12 ait 68 15
REETE/BE 12 [Spayi TS -49 V.P. 20




[y ep e

HE IS

% 35 ¥ 8 i 2016411 722H
4 BEKE VS 14 F®YIZBERA
H= A=

e TYIEE TYIEE e

1 BEE 7% HEE It =E 7 - N

S —— 7 - BN = e T B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3S +1 170 [£3] 3NT -2 -100 4
2 it 1t 4H -1 -100 1t 4S -1 -100
3 ,?ﬁ 1t 3NT +1 430 [£3] 2C -2 -100 11
4 E=] 1t 5Sx -1 -200 5| 4S = 620 13
5 it [ri] 3S -2 100 1t 2H +1 140 1
6 panyiie] [£3] 3NT -1 -50 7 3H +1 -170 3
7 PE=] 1t 2H +1 140 [£7] 2NT +1 150
8 TS [ri] 3D +1 -130 [ri] 2H +2 -170 1
9 panyiic] [ri] 3NT -1 100 [ri] 3NT = -600 12
10 | \WHB 1t 5Cx -1 -200 [ri] 3S -1 100 7

DATUMSit T
HEKS iR EPA Y. X+ 34 21

BEZE/ZFRE -10 XIZI1E/BFEM -23 ait 34 | 21
MEB/MT E3E 23 EER[E/49h/)\EY 10 V.P. 14.28 | 5.72




A B REFIFhEE

¥ 3% %9 % 2016411 H22H
12 BRRETFBA VS 17 iF#IBRES
H= A=

EEETIN FECES FECES Y

T - TER It XIEF 7 A

& BER - =R e 7 mR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 [ X&) 46 | SNT | +1 | 430 E3] 4S = 420

2 it 1t 4S = 620 1t 4S = 620
3 panyiie] 1t 3NT -2 -100 [£3] 3D -1 -50 2
4 PWE=] 1t 4S -1 -100 5| 4S -2 -200 3
5 it [£3] 3NT -2 -200 75 3S -2 100 7
6 panyiie] 1t 4D -1 -50 1t 4D = 130 5
7 WE=] 1t 2NT +1 150 [£7] 2NT +1 150
8 TS 1t 5Cx -3 -500 1t 3C -1 -50 10
9 panyiic] [ri] 3NT -1 100 x 3NT = -600 12
10 | \WHB 1t 5Cx -1 -200 1t 3C +1 130 8

DATUMiT T
EaxETFPA MIERES Y. X+ 15 | 32

SEF/BREER  -17 XIS/ L= -1 Aait 15 | 32
S/ E 1 EEE/FFKR 17 V.P. 471 | 15.29




